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1. HEHSZH-TH0I T (H1200xW3000, EH)& X BA "Y' (E28)
nooF ®101.6X2tX1900 1| = 85,000 | 85,000 85,000 | 85,000 |SSOleE3rEUES
ET ©101.68 1 oH 9,600 9,600 9,600 9,600 |ES0IESrEUES
e ©76.3x3050x2t 1| = 67.000 | 67,000 67,000 | 67,000 |S80ieES+EUES
HIES ©50.8x3050x2t 2| = 38.800 | 77,600 38,800 | 77,600 |Es0ieE3+EuES
HEHUHBEE | MexI10(AE) 1 o 1,500 1,500 1,500 1,500
HEHB/BWUE | MexI10(2H) I 1,200 2,400 1,200 2,400
BEALT 50X320 1= 3,300 3,300 3,300 3,300
A (RIBH) 246,400 - - 246,400
ERE sgoie 0.09 | o 219,321 19,738 219,321 19,738 |2 e meaa
EENE 0.18| @ 167,081 30,074 167,081 30,074 | L e B s Pras
2| 25kw 0.12 | hr 9,122 1,004 | 34,803 4,176 3,037 388 | 47,162 5.658 |28 Gre xim. Lola ara 0 2 AL
WS (SH01H Z&)  |0.6m° 0.12 | hr 24,610 2,953 56,874 6,824 34,509 4141 | 115,993 13,918 |2 e e aa v raiora
ymes 2.5ton 0.24 | hr 6.846 1,643 48,741 11,697 6,169 1,480 61,756 14,820 |2 e o e & 20%. 3= io12
ERNEES:] oI E2l 3% oA 1,494 1,494 1,494 1,494 (20249 ALTNEESL(HEALES]) P.746
£20(&31H) 7,184 72,509 6.009 85,702
o 253,584 72,509 6.009 332,102
*'m'g SO} 332,102 |/ 83m = | 110,701
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2. HIBHEZH2-TH0IZE T2 (H1200 EXMB)E RSN "HA'S (ES2)
Xl == ®101.6X2tX1900 0.5| = 85,000 42,500 85,000 42,500 [ES0IATS+ENTE
A=Y ®101.68 0.5| M 9,600 4,800 9,600 4,800 |280HZZ+2MEE
dl & e 1 M 18,000 18,000 18,000 18,000 |ES0UES+EMTE
HEYUYHBEE M8x110(AEl) 0.5 & 1,500 750 1,500 750
EFHZEB/YHE M8x110(AEl) 1 O 1,200 1,200 1,200 1,200
INDN 50X320 0.5 & 3,300 1,650 3,300 1,650
2H(REHI) 68,900 - - 68,900
A X Egolg 0.05| ¢ 219,321 9,869 219,321 9,869 |EET22 50% =&
230% 0.09 | ¢ 167,081 15,037 167,081 15,037 |EEF22 50% Hg
Eapl 2302 0.06 | hr 9,122 547 34,803 2,088 3,237 194 47,162 2,829 |EET22 50% =&
S (Ed0I1H Z&) |0.6m° 0.06 | hr 24,610 1,476 56,874 3,412 34,509 2,070 115,993 6,958 |EEF22 50% HE
HIOE™ 2.5ton 0.12 | hr 6,846 821 48,741 5,848 6,169 740 61,756 7,409 |EET2250% HE
M=l lEZol 3% 1] Al 747 747 747 T47 [20249 HLESAEZEZH(HSHALES]) P.746
2H(AXIHI) 3,591 36,254 3,004 42,849
H 72,491 36,254 3,004 111,749
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= 3 =g B
= = o = A = % g It = %
D A (25kw)-"AIZH E
0.001W% S 4.3 1,711 7,357 1,711 7,357 |2024.09 2Kt P.1451
FAHZSO| 24% 0.24 7,357 1,765 7,357 1,765
1 34,803 34,804 34,803 |M4zE
9,122 34,803 3,237 47,162
L E=(2.5ton)-"'Al2HE
0.001W% S 2.9 1,711 4,961 1,711 4,961 |2024.09 HehJt2t P.1451
FHZ Ol 38% 0.38 4,961 1,885 4,961 1,885
1 48,741 48,742 48,741 |H5&E
6,846 48,741 6,169 61,756
D 5(0.6m°, HE I 0IH Z&)-"Al
0.001W% S 11.6 1,711 19,847 1,711 19,847 |2024.09 JH2Hot= P.1451
FAHZSO| 24% 0.24 19,847 4,763 19,847 4,763
1 56,874 56,874 56,874 |M6&ZE
24,610 56,874 34,509 115,993
H2EA-'AIZ'E
0.208 34,804 167,059 34,804 |11 AlIZbxAH O Hl 2xE X I 2==(1/8)x(16/12)x(25/20)
SEA-'AIREE
0.208 48,742 233,960 48,742 [12I1Z Al 2bxA 01 H x5 XI H 2==(1/8)x(16/12)x(25/20)
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* NI6SH : ALI|H2EA-"AIZHYE
HEIIAH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |121% Al 2hx a0 Hl 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2oL 2024.9.101& 1 - 167,081 167,081 167,081 167,081
LU H2E A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIEXE M A 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996




a4 & g ¢ SEUNIDN; o A Xt a A = 2 ¢ 2 T
Al A} = % ol E] % o]
o Al A

ANEHEZH2H-TH0IZE (H1200xW3000, AEl)

2 At 20244 2 ¢
M LA
TEL: 1577-8549
FAX: (02)3436-6450




= 7 CH ot H
REHE 22Tl Z & (H1200xW3000, A &)
T 2 I = 2l = g
2z A 2| o9 bl
e ot 2 o & Ot 2 o e O} 2 o e o} 2 o
1. HEHE2H2-THOI T (H1200xW3000, AH)&XIBA 'F2'Y (E2E)
YIS ©101.6X2tX1900 1| = | 154000 | 154,000 154,000 | 154,000 |~eioiei=
T ©101.62 1 of 9,600 9,600 9,600 9,600 |EolEI =N
LR ©76.3x3050x2t 1| & | 186,000 | 186,000 186,000 | 186,000 |~eieidia
2% ©50.8x3050x2t 2| | 122,000 | 244,000 122,000 | 244,000 |~eieidia
BMEHYHTEE | M8xI10(2E) 1o 1,500 1,500 1,500 1,500
LEFIAB/BUE | MBxT10(LEH) 2| o 1,200 2,400 1,200 2,400
SEAL] 50X320 1| = 3,300 3,300 3,300 3,300
A3 (RBH) 600,800 - - 600,800
ERE sgoie 0.09 | o 219,321 19,738 219,321 19,738 |2 e ey e
EERE 0.18 | o 167,081 30.074 167,081 30,074 A DEEEROEBAT B
g 25kw 0.12 | hr 9,122 1,094 | 34,803 4,176 3,237 388 | 47,162 5,658 | e e o T o
WS (28013 Z&) |0.6m’ 0.12 | hr 24,610 2,953 | 56,874 6.824 | 34,509 4141 | 115,993 13,918 |2 ey T e
gmes 2.5ton 0.24 | hr 6.846 1643 | 48,741 11,697 6.169 1,480 | 61,756 14,820 |2 S e T e
SN IHZS2l 3% oA 1,494 1,494 1,494 1,494 |20248 AL EEBH(ALHTA) P.746
A (&R18) 7,184 72,509 6,009 85,702
A 607,984 72,509 6,009 686,502
*'m'g B0} 686,502 |/ 3m = | 228,834
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2. HEAHEZ 2 -0 ZE S (H1200 2HMB)EX2M "HA"'Y (ESE)

Xl == ®101.6X2tX1900 0.5| = 154,000 77,000 154,000 77,000 |2EIQrex
A=Y ®101.68 0.5 M 9,600 4,800 9,600 4,800 |BS0IAES+EMEH
dl & e 1 O 18,000 18,000 18,000 18,000 |2&Iore
HEYUYHBEE M8x110(AEl) 0.5| & 1,500 750 1,500 750
EFHZEB/YHE M8x110(AEl) 1 M 1,200 1,200 1,200 1,200
INDN 50X320 0.5| & 3,300 1,650 3,300 1,650
AH(RIZHI) 103,400 - - 103,400
AX Egolg 0.05| ¢ 219,321 9,869 219,321 9,869 |EZP2HO50% =&

2808 0.09 | ¢ 167,081 15,037 167,081 15,037 |EE722 50% =&
R 2808 0.06 | hr 9,122 547 34,803 2,088 3,237 194 47,162 2,829 |EEP2AC50% XS
BHS(2H0IH Z&) |0.6m° 0.06 | hr 24,610 1,476 56,874 3,412 34,509 2,070 115,993 6,958 |EET22 50% X&
HEEH 2.5ton 0.12| hr 6,846 821 48,741 5,848 6,169 740 61,756 7,409 |EET22 50% XE
ESPNEEAs] 1A E 2| 3% 1 Al 747 747 747 T47 (20244 ALHEEEL(ALHTA P.746
. ICSPA])) 3,591 36,254 3,004 42,849

A 106,991 36,254 3,004 146,249
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* 1S HE : 2A&I|(25kw)-"'AI2H'ES
27| 25kw 1 e 3,237 3,237 3,237 3,237 (e e B o 0000001
ad= 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 Helot P.1451
gM= FHZ2 24% 0.24| A 7,357 1,765 7,357 1,765
LU H2E A 1] ¢l 34,804 34,803 34,804 34,803 |M4zHE

A 9,122 34,803 3,237 47,162
* M2 H : @ZE=(2.5t0n)-'AlI2HE
BZE= 2.5ton 1 hr 6.169 6.169 6.169 6.169 g(\)lzfa'jx:: 52%250793;)3222667?0 0000001
ad= 0.001W% S 29| | 1,711 4,961 1,711 4,961 |2024.09 H2§J+24 P.1451
gM= FHZO 38% 0.38| A 4,961 1,885 4,961 1,885
SIS X2 H AL 1] @l 48,742 48,741 48,742 48,741 |H5SE

H 6,846 48,741 6,169 61,756
* M3 HE : #5(0.6m°,HYERI01H Z&)-"AHES
FYANS 0.6m’ 1 hr 25,681 25,680 25,681 25,680 3(\)224(1ux;TD:E;Efgiﬁ?;iﬁgxzA267995onoooooo1
=0y IE
37 0.001W% S 11.6] | 1,711 19,847 1,711 19,847 |2024.09 J2H2t= P.1451
qM= =9 24% 0.24| Al 19,847 4,763 19,847 4,763
HAEI|IH 2 A 1 ¢ 56,874 56,874 56,874 56,874 |H6EE

A 24,610 56,874 34,509 115,993
* MASH : AED|H2FAM-'AIZ'E
2| HSH A 0.208 | ¢l 167,059 34,804 167,059 34,804 |12LIIZEAIZExA 012 x5 XI Al 2==(1/8)x(16/12)x(25/20)
* N6 H : SENSTA-'AIZNY
SIS XS A A 0.208 | ¢l 233,960 48,742 233,960 48,742 [1LIIZAIRbxAH O 28 X HI2=(1/8)x(16/12)x(25/20)
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* NI6SH : ALI|H2EA-"AIZHYE
HEIIAH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |121% Al 2hx a0 Hl 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2oL 2024.9.101& 1 - 167,081 167,081 167,081 167,081
LU H2E A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIEXE M A 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996




